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QUESTION 1

Oracle Configuration Manager is the key to the proactive capabilities of MyOracle Support. Which three statements
describe OCM? (Choose three.) 

A. It is used to collect configuration details and upload them to the management repository. 

B. Configuration collection happens once an hour. 

C. A customer can associate an SR to their configuration data to reduce issue resolution time. 

D. Oracle Base, ASM, and GRID home must have the same owner for installation to work. 

E. Configuration collection occurs every 24 hours. 

Correct Answer: ACE 

 

 

QUESTION 2

To patch an Exadata cloud instance, you need to run the exadbcpatchmulti command as root from the compute node.
exadbcpatchmulti uses the exadbcpatch.cfg file to provide information about the location of files related to patching
operations as well as additional parameters related to these operations. 

What is the purpose of the sw_bkup_needed=1 parameter that can be set in the exadbcpatch.cfg file? 

A. creates a backup of the patch in case of an error in the patching routine 

B. performs a backup of each Oracle home directory before a patch is applied 

C. forces the software to create a backup of the exadbpatch.cfg file 

D. adds a dialog box that prompts for a backup before the patch can be applied 

E. creates a backup of the Oracle database data files 

Correct Answer: E 

 

 

QUESTION 3

Which options does not benefit from storage offload processing? 

A. indexes that rely on B-Tree pointers 

B. column filtering 

C. joins and aggregation 
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D. table scans 

E. incremental backups with block change tracking 

Correct Answer: A 

Reference: https://www.pythian.com/blog/exadata-join-offloading-in-action/ 

 

QUESTION 4

In which three ways can customers access the ILOM interface to manage the Exadata database and storage server
hardware components? (Choose three.) 

A. ILOM CLI interface through the management network 

B. ILOM Web interface through the management network 

C. remote KVM session to the ILOM 

D. from the database server operating system tool "ilomcli" 

E. from the storage server operating system tool "ilomcli" 

Correct Answer: BCE 

 

 

QUESTION 5

Your government customer has purchased a full rack of Exadata. The customer has two departments that would like to
share the Exadata Database Machine but the concern is that department A will be able to see data from department B. 

Which architecture would you suggest to solve this deployment issue? 

A. Split the configuration by using Oracle Nimbula\\'s cloud software so that four database servers and seven cells can
be used by department A and the rest can be used by department B. 

B. Split the configuration and use ASM-Scoped Security so that four database servers and seven cells can be used by
department A and the rest can be used by department B. 

C. Set up instance caging to ensure that department A has access only to four database servers and seven cells and
department B has access to the rest. 

D. Define the split by setting up database services that are specific to department A and department B. 

Correct Answer: D 
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